BEBEOED JX

BEERGE/H-ERRME) (E#50-55-60%E ., Bi62EE~SHTEE) O/sn/8)

8,000

7,000

6,000

5,000

AAEASEEEERITERBIEEA
TS BRI E I R

4,000

3,000

2,508

2,000 - 1,838

1543 4 499

1489 1444
1353

1,000 -

S50 S55 S60 S62 S63 H1 H2 H3 H4 HS5 H6 H7 H8 H9 HI10 H11 H12 H13 H14 H15 H16 H17 H18 H19 H20 H21 H22 H23 H24 H25 H26 H27 H28 H29 H30 RI1



T ERBOWER sxnmaorn JR

W =HR (G8/im -5 RiRME)

20 (K)
18
18—~
& > <>
16 M . . o 16
3 I { I 3 =
14 15 .\l o = a4
12
10
H284E3 8 . — IS BN E 24T - S1LIZHELVEE
8 (e D 2 5E 5 E 797 —
6
4 - B/im- BN
2 & ES-ERR
0 T | T | | | T | T |

S62  H3 H8 H13 H18 H23 H27 H28 H29 H30 RI



ERBIEEANE wromEasEEI-g3< JR

JRItEE

W =K GB/im - 5 RIRAE)

AAR AAR
i = 3 — E
/E 8.9km = 5.4 E 5.7 3 6.8 15 8.0 = 3.4 E 4.2 m 5.1 ; 4.2 % 39 % 43 ':E‘ 71 E’
aw ast 7 I : 4 “
il % 3 I 25 n tl { tl K R X R

ERFIREANR H27R1D 5 FF1Y)

N N N N N N N N N N
694.0 30.2 106.2 14.0 22538 36.6 13.4 82.2 171.2 6.4 38.4 12.6 4627.6

FHEAR1HFY
@ 'AuT
@ 10ALTF

Q 10A32



5| E

EL:

AN B SfaEEseRRaER)IcR<

JR

JRIitEE

B EW\R (8 /i -5 RiRE)

ABEIEEICETEIRREEAR

& LY3E CERIR=E/ i)

(A)

OTUWE(%/ﬁﬁﬁiﬁ)

SEHS B/ 3 HRIR SIHEES EHRIR £ B 3B/
o 6:07 6:32 6:55 o 5:57 6:46 7:16
300 [ 200 250 S—— ] 1
1461D |2 < 334 2 108, I = 1462D | === -:I 91 |
R | e Mibuhteh i S CERIRSE) |
250 . o |
50 50
o
200 6:17 647 712 741 N 822 849
150 1464D |
GESF |t | g 9
100 w0
50 - 7:40 8:09 » 9.03 9:26 9:56 10:22
1465D |20 | | PP e R S—
0 —/ GaRHT | 284 CERRSE | | 10, | | 8 | | 8 |
50 50
e — °
. 8:45 9:14 9:38 10:01 - 12:52 13:15 13:40 14:06
2 o0
1467D | a— 1468D |
CERIRAT) [ | | | | i i | | CERIRSE) (1 == 185» F~17°" "1 11, | = = J |
- 120 284 36+ o G . 150 [ 110 [ 5
50 50
0 o
) 13:35 14.05 14:28 14:50 - 15:06 15:29 15:58 16:27
20 o0
1469D  |™® 1470D
CERIRAT) ™ | CERIRSE) |"
o
16:04 16:33 17:46
250
1471D |20 1472D |
GBSMT)  |190 fommmmmmdummanny | 12)\ |> CERIRSE) 1
50 ——
o —
w00 17:18 18:05 18:28 18:50 - 19:38 20:02 20:29 20:56
250 o0
1473D |20 | | 3 1474D oo I 104 |
CERIRAT) [0 B i CERIRSE) 1=
394 | | 8 I __________________ | A -
s0 50
o o
200 19:55 20:25 20:48 21:11 - 21:57 22:20 2045 23:12
250 o
1475D 1476D |
G RIRTT) (ERR% ol e 91, bt g, ot }
=l e 21, [ [ 61 | | 1.
50
o
1477D
CERURAT)
50




ERBIBIEE AR sunxserieaEs (FE)ES

JR

JRit&EE

W =HR (G- 5 RiRME)

2,000
1,800
1,600
1,400
1,200
1,000
800
600
400
200

0

(AN)

642

2 & ] % ) = e e = = =
7 % % T % I m r 1 [ R

ot

662

peatsiihi



ERREBA LR 1856-YTE(Sfmes) JR

JRit:EE
I3 W Ly N
BEAEKEGE/Wm-aRRE)
(A)
2,500
o EHA
2,000 -
o E #Hi 4t
1,500
1,000
736 758
642 642
500
o7 343 364 512 512 289 009
231
232 210 194 183 158 208 231
88 81 35 78 100
. 143 133 106 102 123 129 131 133 130 130 151 154
2 = 2 % e = & i = = = & E
Z % 5 T 2 I m = I E R X 2

KIGHLED=HEHENEDLLBRWEELHYET,



T4 A EYRFEHRE enxen JR

JRitEE
3 TN =
BEEH G/ -2 RRED (B - )
slala e[z |8 =& & [®2 |2 [% &[5, & &=a
a p=]
2 4
no 8 | "R | K
u =
w |l 2 x|l Fw s o w s lw B R xR s o] st
© X 5 38 151 35 22.3
(EH B LL=E)
£ N #% 1.7 428 2.3 20.3 1.3 2.1 76.4
29 2.7 0.2 5.8
. o 8.3 0.2 8.5
73 ;
e /T 05 25/ 04 05 0.1 4.0
= * 10 1.0
§ 1.8 1.0 2.8
5 * 1.0 0.3 1.3
% o 0.3 0.3
X 13 1.3
E N\
= 7 0.2 0.2
_ " 09 08 218 09 28| 27.3
0.2 0.2
% m 10.9 0.7 09| 125
_ 0.2 63.4 4.0 24| 70.0
i = 1.5 1.5
1228 139 15| 138.2
® W 2.1 40 6.1
® Bl mp: | Eswems s EyRsk
= o EEE S B TR 307 53 36.0
T %12 AEME14%. 37 BEIL34K. 64 B EHIL6MkELTES 09| 06 15
+ w|| X@EBERL RS TER 05| 60 6.5
SN 1 R LIS E A 03} 33 3.6
= B R
- st 11.4) 579 23| 32.1 0.9 2.3 1.3 2545 30.8 8.7| 402.3
= " 0.5 54 1.4 4.4 0.2 0.2 3.3 9.4 0.2] 25.0




ok Xl IR 32K

JRAtLEE

WEMRGE/im- 5 RIRE)

[FERR30FE] [SFTEE]
(EAM)
1,500 -
il
e
w BT
1,000 - 8 2% g " ZDM(EBRELRLE)
A1228EFH A1,1085FH n TR
e 1=]
w MEER D OBESICRLER
R EEOHFOBESICRLIER
500 7 A CEELELER
117 [ 121
0
I A Z H % A KIBRMED 6 BHEASHELMEA A
1M785FH 1,34685H 12185878 1,22885H HYES.



